I #H & F %
NRIE H= 3.5 m

BEABSEEI (154 Y) THEER
HEEH

EE © 150
H FiRHR
H' :3.22-0.0
w iR Hl 8

3.22 m 3.5
3.22 m(F#EF 00 m

A 0.45 mNvaoky

D ANy HRYEGEAYYIELELE = 9 /@
T NvHERYEGRALYEGEE = 65 hr/B
Q Ny IRYIBMLYLIE 15.1 m/hr
B

SARTE B #=1EHI B % () +/ SR ILERA B (b)

(@) =Wx H' x15mx (1/D)
=1.00x3.220x 15 x (1/99)
=0. 49

(b) 10mZ Y 1.7 BF
1.7x (15 "/10" x ( 1/6.5)
=0.39
(a) + (b)

@ HEHREEHR

= 0.49+0.39 = 0.88

(@ hxw = 0.10 x1.00=0.10 m’
EXESE&Y 36m°/B
0.10x 15m).~ 36 = 0.04
@ BENHAEAK
(a) & © 150 0.021

TFTH&Y 0.021 (N/m)
15m x 0.021 = 0.32

@ BREH = BEEAHK @ + BEERAKO)
0.165  0.37

(a) FpELHE= (1.00%0.37-0.165 2x 7m/4- 0.10 ) x15"736 =

® mEEL= (78.4™/ 31.5™ X15"% (1/36) =
(BERLE] [HKER]

(@) + (b) = 0.10 + 1.04 = 1.14

® 53RFTERH
TH&LY 10mzx Y 0.18 H

0.18 x (15"/10" = 0.27

1.00 W1 E B IR

0.10

1.04

1.00

0.9 B

0.1 8

0.3 8

0.3 8

128> (15m) Y IR

B H FRER
@ EAEHI 0.9 A 0.9 H
@ #Bt 0.1 8 0.1 H
® EfH 0.3 8 0.3 8
0.1 H 0.2 B
@ BR 1.1 8 1.1 8
® 5lik 0.3 8 0.3 H
KEB% 1.2 B 1.2 8
I B 2.1 8 2.1 8
T UR—IILEI A
HEIB% EhiE:
183 vk—IL (H=3. 0L F) 0.25 B x = 0.0 A
" (H=3.0~4.0LLTF) 0.26 B x = 0.0 B
05 - A< v hR—IL (H=2. 0AF) 0.20 8 x = 0.0 B
" (H=2.0~3.0LLF) 0.21 8 x = 0.0 A
BEETUR—IL (H=0.0~3.5LLF) 0.09 B x = 0.0 A
LovINETUR—L (H=1.0LLF) 0.10 B x = 0.0 A
" (H=1.0~1.5L1F) 0.12 8 x = 0.0 A
" (H=1.5~2.0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2.5L1F) 0.16 B x = 0.0 A
" (H=2.5~3.0LLF) 0.18 8 x = 0.0 A
" (H=3.0~3.5LLF) 0.20 8 x = 0.0 A
" (H=3.5~4.0LLF) 0.228 x = 0.0 A
WEIA%H & 0.0 B
TEEEAES 31.50m / 15.00m = 2.1 @ 2.1 [
KERE
AKBEIB%H ( 128 x 31.5m / 15.00m + 008 ) x 0.0 = 0.0 8
TR0, FH1. 4
0.0 A
TEBETEH 218 x 31.50m / 15.00m  + 008 = 4.4 8 4.4 H
TEHEY
TEEHBEH 448 x 1.4 = 6.2 B 6.2 A




BEHELT

A IS
BRI RERH
ZAIfk (2.0x1.0x0.2) 1# (0.42¢t)
BISHr (H250%250x 9% 14) L=1.0m 2 K
(0. 08t/mx 1. 00m=0. 08t)
BHBEYEE
EEHET HEIPE)
EHT 1 A (TILT)LHIETE HiMTER P.11)
BT 1 =] (ZILTIVHIETE HKifT&ER P.9)
HHET 5 H fHE $300, & (F)
X 408 =+ 1.0 = 4.075 = 5
EHeHETIRH= 7 B (8%
HRABH= 7 x 1.4 = 9.8
= 10 B (#tAB%

HERTIS thTEEE

BEEHRAL 1 H (TILTIVHEIETLE HKTEH P.16)
X 45 + 6.0 = 076 = 1
FHAFAT 1 H (TILTIVEETLR BKER P.17)

X 021 <+ 05 = 042 = 1



B T B #H o i &

B LT & 48 VU¢ 150 mm
= _ BMIZEE L= 215 m B Ml 1§ 0.95 m W HIE L3 0.45 B H
REHX®R HE 30 m I B8 W 0.28 B K
S OE MR Y KT . 003 H
- 6.00 m =~ 240 @  0.03
;
%ﬁ ﬁ H& E& E‘i’ I 200 rnz ; 810 E
oW R OH T 461 = 67.0 (0.20BH) = 0.07 0.07 A
BEHARRBET 215 o = 433 005 B | ®@ 0.16
BESEXARET 215 o = 500 0.04 B
B A & B I s . |
— S R — ®  9.00
% *ﬁ BX T ﬁ]*ﬁﬁ gﬁk EPJA;IA 900 =}
(ESHE+XRER 7.0 + 1.0 + 1.0 :
# B L I 410 o8 = 36.0 0.11 &
BEEARMET 215 m - 855 003 B | @ 017
BESEXRMET 215 o 667 0.03 B
T 2 S
©) %ﬁ%g&ggﬁﬂ L %X B % 9.4
03 =
QiEEIT TEBEITEAREE N 1.0
0.16 H BIERE AR
- QBEMEI (HEE+AE) IBEYDTEHER 215 = 1.0 2.2
9.00 H
: @ERT XK & B %
—0.17 |
KEBHH = IR B # EAH  TREBEH
(TBISERA% 9.4 x 1.4 13.2
TEEH 9.3 H
mIEA% 9.3 @




BEHELT

i S HEE ST H
B R

ZIMR (2.0x1.0x0.2)

BITSZH (H250%x250%x9%x14) L=1.0m

1 4
2 &
(0.08t/mx1.00m=0. 08t)

(0.42 t)

BHBEYEE
EEHET HEIPE)
HET 1 H (TILT)LHIETZ HiMTER P.11)
BT 1 =] (TILTIVHIETE HifT&ER P.9)
HHET 5 A8 fHE $300, & (F)
P 4.58 =+ 1.0 = 4.575 = 5
e ETIRH= 7 B (8%
HRABH= 7 x 1.4 = 9.8
= 10 B (#tAR%)
HERETS thITEA
EESEAT 1 H (TILTIVBEIETE HirER P.16)
D 506 + 6.0 = 0.84 = 1
FAEAT 1 5| (TILTIVHIETLE HifT&ER P.17)
D 0.23 =+ 0.5 = 0.46 = 1



B I B #H o FH HE

B LT & 48 VU¢ 150 mm
= _ BIEER L= 2.15 m 2 Bl 18 0.95 m R R wiE 0.45 kB H
B E WX EHME IS B LA 0.28 wiE M
% O MR oY oK T ) 0.03 H
- 6.00 m — 240 @  0.03
P
ﬁ £ H& E& E‘i’ I 200 rnz ; 810 E
woWm | A T 3.84 % = 67.0 (0.20BH) = 0.06 0.06 A
B EHWMXRBEI 215 o= M5 0006 B | @ 0.14
BEELRERIXBRKETL 215 m = 83.3 0.03 H
B B ﬁ*,-a* I s . |
S o M — @  9.00
(B S E +$“‘$ﬁ)\) 7.0 + 1.0 + 1.0 :
i R L I 312 . = 36.0 0.09 H
B EHMXBRBEI 215 m o= 855 0003 B | @ 014
BESEXREET 215 m = 100.0 0.02 8
T 2 =
@%%&%H&ﬁ&aﬂ B L £ B % 9.3
. B
QEHIT TEIEZARK N 1.0
0.14 g BIER #xAMEZH%
 QBEMEI (HEE+AE) IBEYDTEHER 215 = 1.0 2.2
9.00 H
DIERT XK OB B #
014 B
UKEBHH = EIHEEABH EAH  TREBEH
(TBRISHER 9.3 x 1.4 13.0
TEEH 9.3 H
BIEEK 9.31 H




= BE I B & & %
(1504 Y) THEER
BEEH
&E © 150
H  CEigimEiR = 1.3 m TR
H :1.35-0.0 = 1.35 m(FEZFE 0.0 m
W iR Hl e = 0.74 wil CE B R
R 0.28 mRuNw o k™
D Ay HRYEEAYYIEEIELE = 67 /@
T NvHERYEGZALYERESE = 65 hr/B
Q Ny IRYIBMLYLIE 10.3  m/hr
@ BAFE B H=1E4 B 5 () +/8R LEAB K (b)

(a) =wWxH'" x15mx (1/D)
=0.74x1.350x 15 x (1/67)

=0.22
(b) 10m% Y R
x (15 "/10M x (1/6.5)
=0.00
(@+®) =0.22+0.00 = 0.22
Q@ EHRFHEAH
@ hxw= 010 x064=0.06 m
EXESH#HEY 36n’/8
(0.06x 15m).~ 36 = 0.03

® EMZHEAK
(@) &®E O 150 0.021

TFTH&Y 0.021 (N/m)
15m x 0.021 = 0.32

@ EBEREH - BERAK Q) + BHEREK0)

0.165 0.37
(a)  BbEHE= (0.64x0.37-0.165 2X 7/4~ 0.06 ) x15"/36 = 0.06
(b) #EL=( 7.6 ™/ 11.56™ x15"x (1/36) = 0.28

[ERtE] [KER]

(@) + () = 0.06 +0.28 = 0.34
® 53RFTERHK
TH&LY 10mz% Y B
0.00 x (15"/10" = 0

0.64

0.2 B

0.1 8

0.3 8

0.3 8

1Z/8> (15m) Y TR

B B EAzE
@ BAEHI 0.2 A 0.2 B
@ #HBt 0.1 8 0.1 H
® EfH 0.3 8 0.3 8
0.1 H 0.2 B
@ BR 0.3 8 0.3 H
® 5lik 0.0 B 0.0 H
KEB% 0.5 8 0.5 H
I B 0.6 B 0.6 H
T UR—IILEI A
HEIB% AT
183 vk—IL (H=3. 0L F) 0.25 B x = 0.0 A
" (H=3.0~4.0LLF) 0.26 B x = 0.0 B
05 - A< v hR—IL (H=2. 0OAF) 0.20 B x = 0.0 B
" (H=2.0~3.0LLF) 0.21 8 x = 0.0 A
BEETVR—IL (H=0.0~3.5LLF) 0.09 B x 1.0 = 0.1 8
LovINBETUR—IL (H=1.0LLF) 0.10 B x = 0.0 A
" (H=1.0~1.5LLF) 0.12 8 x = 0.0 A
" (H=1.5~2.0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2.5L1F) 0.16 B x = 0.0 A
" (H=2.5~3.0LLF) 0.18 8 x = 0.0 A
" (H=3.0~3.5LLF) 0.20 @ x = 0.0 A
" (H=3.5~4.0LLF) 0.22 8 x = 0.0 A
WIAH% & 0.1 B
TRREAEH 11.50m / 15.00 m 0.8 @ 0.8 [
KERH
KEIB%H ( 058 x 11.50m 15.00m + 018 ) x 0.0 = 0.0 8
YRR 0, FH1. 4
0.0 H
TEET A 0.6 B x 11.50m 15.00m  + 018 = 0.6 B 0.6 B
TEHEY
TREHBEH 0.6 B x 1.4 0.8 8 0.8 B




I #$i 8§ % 128> (15m) Y TR

RELE H= 25 m
gézﬁigzamg Y) IHEER B B EEHK
EE © 150
H o CREiREIR = 22 m 2.5 @ BAEHI 0.7 8 0.7 H
H' :2.20 - 0.0 = 220 m(FHEZE 00 m
W iR Hl e = 0.90 wil CE B R = 0.90
HRAME 0.28 Ny ok @ #Ht 0.1 8 0.1 8
D Ny HRVEEZALYIEEIFEE = 67 /@
T o NAwoRYBEGEALYEERE = 65 hr/B ® BHH 0.3 8 0.3 H
Q NAYIRYVIBELYLTE 10.3 m'/hr 018 {028
@ BAFTEBH=1REI B () +/ SR ILEABE (b) @ #ER 0.7 8 0.7 H
(a) =Wx H' x15mx (1/D)
=0.90x 2. 200 x 15 x (1/67) ® Blik 0.2 8 02 @
=0. 44
(b) 10mY 1.3 B KEBHHK 1.0 B Tom
1.3x (15 "/10™ x ( 1/6.5)
=0.30
iR=E" 1.5 8 1.6 8
(@)+ () = 0.44+0.30 = 0.74 0.7 H
@ EHMEAHK
IUR—IILEI A
(@ hxw = 0.10 x0.90=0.09 m’ I A% BT
EXESE&Y 36m°/B 18T vk—IL (H=3. 0LLF) 0.25 B x 1.0 = 0.3 8
0.09% 15m).~ 36 = 0.04 0.1 H " (H=3.0~4.0LLF) 0.26 B x = 0.0 B
05 - A< VR—IL (H=2. 0LLF) 0.20 B x = 0.0 B
" (H=2.0~3.0LLF) 0.21 B x = 0.0 B
Q BEHBFEAK BEET R—IL (H=0.0~3.5L1F) 0.09 B x = 0.0 B
L VIMNET UR—IL (H=1.0L0F) 0.10 B x = 0.0 B
(a) ®iE © 150 0.021 " (H=1.0~1.5L1F) 0.12 8 x = 0.0 B
FaH&U 0.021 (A/m) " (H=1.5~2.0LLF) 0.14 8 x = 0.0 B
1Bmx  0.021 = 0.32 0.3 H " (H=2.0~2.5L1F) 0.16 B x = 0.0 B
" (H=2.5~3.0LLF) 0.18 8 x = 0.0 B
" (H=3.0~3.5L1F) 0.20 8 x = 0.0 B
" (H=3.5~4.0LLF) 0.2 8 x = 0.0 B
@ BERAH = BDEFEAH () + BHIERBH D)
0.165 0.37
(a)  EbEHE= (0.90x0.37-0.165 X 7/4- 0.09 ) x15"/36 = 0.09 BIBH & 0.3 B
b) #EEL= (27.6™/19.8™ X15"X (1/36) = 0.58
[ERLE] [HRER]
TEGEAES  19.80m / 15.00m = 1.3 1.3 |
IKERE
(@) + (b) = 0.09 +0.58 = 0.67 0.7 B KBIB%H ( 108 x 19.80m / 15.00m + 038 ) x 0.0 = 0.0 B
EBE1. 0, 8514
0.0 H
® SRFEEH
TEBETEH 1.58 x 19.80m / 15.00m + 038 = 2.3 8 2.3 8
FTHEY  1mHyY 0.14 B

TIREREY
0.14 x (15"/10" = 0.21 0.2 8 TERERAH 238 x 1.4 = 328 3.2 H



BEHELT

A IS
BRI RERH
ZAIfk (2.0x1.0x0.2) 1# (0.42¢t)
BISHr (H250%250x 9% 14) L=1.0m 2 K
(0. 08t/mx 1. 00m=0. 08t)
BHBEYEE
EEHET HEIPE)
EHT 1 A (TILT)LHIETE HiMTER P.11)
BT 1 =] (ZILTIVHIETE HKifT&ER P.9)
HHET 6 H fHE $300, & (F)
% 508 =<+ 1.0 = 5075 = 6
EHeHETIRH= 8 B (EB%)
HRABH= 8 x 1.4 = 11.2
= 12 B (#tAB%

HERTIS thTEEE

BEEHRAL 1 H (TILTIVHEIETLE HKTEH P.16)
% 55 + 6.0 = 093 = 1
FHAFAT 1 H (TILTIVEETLR BKER P.17)

X 026 <+ 05 = 052 = 1



B T B #H o i &

B LT & 48 VU¢ 150 mm
= _ IEER l= 2.15 m i &l 18 0.95 m R ] liFE 0.45 Mk B H
REHX®R HE 30 m I8 W 0.28 B K
SR YU KT . 0.03 H
- 6.00 m =+ 240 @  0.03
.
ﬁ £ H& E& E‘i’ I 200 rnz ; 810 E
oW R A T 3.20 % = 67.0 (0.20BH) = 0.05 0.05 A
BEHAREET 215 m = 520 004 B|®@ 012
BESEIRSEET 215 m = 833 0.03 H
B A & B I s . |
- S W — @ 10.00
% *ﬁ BX T ﬁ]*ﬁﬁ gﬁk EPJA;IA 10. 00 =}
(ESHE+XRER 8.0 + 1.0 + 1.0 :
# B L I 268 - -~ 360 0.07 H
BEHARBET 215 m = 100.0 002 B|@ o011
BEESEXRRET 215 o = 100.0 0.02 H
T 2 S
@ %ﬁﬁg&ggﬂtl T E B # 10.3
. =
QEHIT TEIERAEE N 1.0
0.12 A WIEE &HREX
 QBEMEI (HE+AE) IBEYDTEHER 215 = 1.0 2.2
10.00 H
DIERT K B B #
— 01 \@
KEBHH = I AB # EAH  TREBEH
(TBISHBEH 10.3 x 1.4 14.4
TEEH #HHH B
BmIEAK 10.26 A




I #H &

AESIZ 0 = 20 m
SEMRREATET n2Y) THEEX
HESH

B © 100
H  REHiRAEIR = 1.44
H" :1.44-0.0 = 1.44
w iR Hl1E = 1.00

m
m(FHEF

R 0.28 mif/ Ny okt

D N\wykEEEY YIRHERE
T Ry ok EEREY Y EERER

Q NYIRVIBELEYLITE
<

@

(@) =WxH'" x4mx (1/D)
=1.00x1.44 x4 x (1/67)
=0. 09

(b) 10m& L) 1.1
1.1x (4 "/10" x (1/6.5)
=0.07

(c) 10mHY
x (4
=0. 00

"/107)

(a)+(b) = 0.09+0.07=

@ EMHMEAHK
(@) & © 100 0.018

TH&Y 0.018 (N/m)
4mx 0.018 =

@ BERBH
0.114 0.1

BREL=( 1.7 ™/ 1.3 " x4"x
[ERLE] [HER]

® Blik-LBXRIBEMEER

TH&LY 10m Y 0.90

0.90 x (4"/10" = 0.36

67
6.5

10.3

Bl

(1/36) =

E ®K

1.5
0.0 m

(VAR N -]

n/B
hr/8
m®/hr

0.16

AFERH=EAIB () + BEHXREABK O) + LEXRIKE (o)

1.00

1R/82 (dm) &Y TIER

0.1 8

0.4 8

B B EAE
@ EAMEHI 0.2 B 0.2 H
[OR-LiE:d 0.1 8 0.1 H

008 018

@ B 0.1 8 0i\m
® 3lik 0.4 8 0.4 B

KEBH 0.3 8 0.3 H

T % 0.3 8 03 ®|
TR AE 1.28m / 4.00m 0.3 @ 0.3 @

KEREK
KEIHH ( 038 x 1.28m 4.00 m ) x 0.0 = 0.0 8
VEZERF. 0, BRF1. 4
0.0 H
THEETA 0.3 8 x 1.28m 4.00 m = 0.1 8 0.1 H
TIRBRY

TEEHBAN 0.1 8 x 1.4 0.1 8
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2R ATE HA S
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/BN —
ZI=Hr |10H 20 H
2R ATE HA S
ZITR 12H/30 0.4 B
B —
ZIXH |12H 12 H




